
TA0632 Installation Manual

Package Contents：

Name QTY Name QTY 

Chassis 1 M4*50 hexagon screws 2 

Motor 2 M3*8 hexagon screws 2 

Track 2 M3*5 screws 8 

wheel assembly 2 M4 nut 4 

Driving wheel 2 washer 4 

18650 battery 

box 

1 Motor shaft spacer 2 

Connector 2 

Note: This kit does come with some spare parts 
and may require tools not included. 

Black M3 Grub screws 2



Installation Steps: 

Step 1. Put together the wheel assembly.（Install the M4*50 
screws into the wheel)

Step 2. Lock the wheel assembly with an M4 nut.

Step 3. Place the washer onto the large hole of the chassis,then install the wheel 
into the chassis.



Step 4. Install the washer on the opposite side on the chassis, then secure an M4 nut. 

Please note not to tighten the nut too much on the wheel so that it can provide 

movement .

Step 5. Install the motor in between the chassis, using the 3pcs of the 
M3*6mm flathead screws.



Step 6. Installing the driving wheel：

Step 7. Firstly connect the driving wheels together, be sure to align the 
correct points on the two wheels. Then use the Allen Key to install and 
tighten the M3*8 hexagon screws into the center of the wheel to lock it 
into place.

Step 8. Install the Motor Shaft spacer onto the motor.



Step 9. Secure the motor shaft spacer by installing the black grub screw into the provided hole, be sure 

to align the screw with the flat side of the motor shaft and then tighten with the smallest Allen Key. 

Step 10. To install the tank track first use a paper clip to remove the 
pin from the tank track.   



Step 11. Measure the required track length around the driving wheel 
and the back wheel.

Step 12. Load the track pin back into the track connections 
using a pair of pliers. 



Repeat: Now that you have successfully install one side of the tank 
tracks, you can repeat steps 1 to 12 to install the wheels and tracks 
on the other side. 






